Skillswise 1 O

Pronouns - quiz

Level A
1. Choose the right pronoun to correctly finish this sentence:
Issy went back when realised the door was still open.

A) she
B) her
C) it

D) him

2. David stopped the car when he realised was making a strange noise.

A) them
B) us
C) it
D) they

3. The chair was old and looked shabby.

A) they
B) it

C) he
D) him

4. Alec was late so had to run.

A) him
B) he
C) them
D) me

5. The two cars were very close as went into the final lap.

A) them
B) us
C) they
D) it

6. Maureen has forgotten her glasses. Could you take them to ?

A) her
B) she
C) they
D) we
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Seb wants to go to America when

A) her
B) it

C) him
D) them

Marie had finished and

A) us
B) she
C) her
D) him

The shoes fitted and

A) she
B) them
C) it

D) they

Norman explained where

A) them
B) us
C) he
D) me

wanted to go home.

were just the right colour.

had been.

finishes college.
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Level B

1.

Which pronoun goes in the gap?
Sue and ....... went to shopping together yesterday

A) |
B) me

Which pronoun goes in the gap?
Could you please give a lift to the kids and .......... ?

A) |
B) me

Which pronoun goes in the gap?
Joyce and ......... have been best friends since were were at school.

A) |
B) me

Which pronoun goes in the gap?
The kids will be at home but Mike and .... are going out.

A) |
B) me

Which pronoun goes in the gap?

| borrowed some books from Simon six months ago and | haven't given them back to ....

A) them
B) me
C) him

Which pronoun goes in the gap?
That building is falling down so they are demolishing ....on Sunday.
A) it

B) them
C) him

yet.
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Which pronoun goes in the gap?

| still haven't met Steve but you have told me a lot about .....
A) me

B) him

C) you

What does 'it' refer to in this sentence?

Although it's very expensive, that house sold very quickly.
A) money

B) sale

C) house

What does 'we' refer to in this sentence?

My father and | are planning a trip out because we need a break from work.

A) My father and |
B) a trip out
C) a break from work

What does ' them' refer to in this sentence?
Bread is bad for ducks so people shouldn't let their children feed them.
A) ducks

B) people
C) children
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Level C
1. My father sent me some flowers.
Which sentence means the same?
A) He sent me them
B) He sentitto me
C) Isent himthem
2. My friends and | all took some Christmas presents to the care home.
Which sentence means the same?
A) We took them it
B) We took them there
C) They took us there
3. The teacher gave me and my class a box of chocolates.
Which sentence means the same?
A) She gave it to us
B) We gave it to her
C) She gave it to them
4. | usually send a postcard to each of my relatives.
Which sentence means the same?
A) | try to send them to them
B) Itryto send it to them all
C) Itryto send one to each of them
5. Although I knew was wrong, | put the jewels in my pocket.
A) they
B) it
C) we
6. In spite of hating , | managed to eat the snails.
A) they

B) them
C) it
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We were told were broken but we took the scales anyway.

A) they
B) we
C) it

Maria picked up her son from school early because had a hospital appointment about
his asthma.

A) him
B) it
C) he

After working on the problem for several hours the team members decided to hand
over to an expert.

A) it
B) them
C) her

Because he wanted to be a success, Alex gave us a lot of help with the party.
A) him

B) us
C) it
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Answers

Level A

1. Choose the right pronoun to correctly finish this sentence:
Issy went back when __ realised the door was still open.

The correct answer is: A. she. 'She' means 'Issy' in this sentence.

2. David stopped the car when he realised was making a strange noise.

The correct answer is: C. it. 'It' means 'the car" in this sentence. 'It' can be used to replace
single things, but not people.

3. The chair was old and looked shabby.

The correct answer is: B. it. 'It' means 'the chair' in this sentence. 'It' can be used to replace
single things, but not people.

4. Alec was late so had to run.

The correct answer is: B. he. 'He' replaces 'Alec’ in this sentence (assuming Alec is male)
because Alec is doing the action of the verb - Alec is the one who is late and has to run.

5. The two cars were very close as went into the final lap.

The correct answer is: C. they. 'They' replaces 'the two cars' in this sentence as it is the two
cars who are doing the action of the verb.

6. Maureen has forgotten her glasses. Could you take them to ?

The correct answer is: A. her. 'Her' replaces 'Maureen' in this sentence.
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Seb wants to go to America when finishes college.

The correct answer is: A. he. 'He' replaces 'Seb' in this sentence.

Marie had finished and wanted to go home.

The correct answer is: B. she. 'She' replaces 'Marie' in this sentence because it is Marie who
is actually doing the verb (want).

The shoes fitted and were just the right colour.

The correct answer is: D. they. 'They' replaces 'the shoes' in this sentence because 'the
shoes' are doing the action of the verb - the shoes are the right colour.

Norman explained where had been.

The correct answer is: C. he. 'He' replaces 'Norman' in this sentence because it is Norman
who actually does the action of the verb (explain).
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Level B

1. Which pronoun goes in the gap?
Sue and ....... went to shopping together yesterday.

The correct answer is: A. 'l' because it is part of the subject of the sentence.

2.  Which pronoun goes in the gap?
Could you please give a lift to the kids and .......... ?

The correct answer is: B. ‘me' because it is part of the object of the sentence.

3.  Which pronoun goes in the gap?
Joyce and ......... have been best friends since were were at school.

The correct answer is: A. ‘I' because it is part of the subject of the sentence.

4. Which pronoun goes in the gap?
The kids will be at home but Mike and .... are going out.

The correct answer is: A. ‘I' because it is part of the subject of the sentence.

5.  Which pronoun goes in the gap?
| borrowed some books from Simon six months ago and | haven't given them back to .... yet.

The correct answer is: C. 'him' because it refers to Simon.
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Which pronoun goes in the gap?
That building is falling down so they are demolishing ....on Sunday.

The correct answer is: A. 'it' because it refers to the building.

Which pronoun goes in the gap?
| still haven't met Steve but you have told me a lot about .....

The correct answer is: B. 'him' because it refers to Steve.

What does 'it' refer to in this sentence?
Although it's very expensive, that house sold very quickly.

The correct answer is: C. 'house' because it is ‘that house’ that is expensive.

What does ‘'we' refer to in this sentence?
My father and | are planning a trip out because we need a break from work.

The correct answer is: A. 'my father and I' because they are the ones that need a break from
work.

What does 'them' refer to in this sentence?
Bread is bad for ducks so people shouldn't let their children feed them.

The correct answer is: A. 'ducks' because they are the things that the children feed.
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Level C

1. My father sent me some flowers. Which sentence means the same?

The correct answer is: A.

2. My friends and | all took some Christmas presents to the care home.
Which sentence means the same?

The correct answer is: B. The answer is option 2. Them refers to the presents and there refers
to the care home.

3. The teacher gave me and my class a box of chocolates.
Which sentence means the same?

The correct answer is: A. The answer is option 1. She is the teacher, it is the box of
chocolates and us refers to 'me and my class'

4. | usually send a postcard to each of my relatives.
Which sentence means the same?

The correct answer is: C. The answer is option 3. 'One’ refers to a postcard, 'them' refers to
'my relatives'.

5. Although | knew was wrong, | put the jewels in my pocket

The correct answer is: B. The answer is 'it', which refers to putting jewels in my pocket

6. In spite of hating , | managed to eat the snails

The correct answer is: B. The answer is 'them', which refers to the snails
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7. We were told were broken but we took the scales anyway.

The correct answer is: A. The answer is 'they', which refers to the scales

8. Maria picked up her son from school early because had a hospital appointment about
his asthma

The correct answer is: C. The answer is 'he’, which refers to her son

9. After working on the problem for several hours the team members decided to hand
over to an expert

The correct answer is: A. The answer is'it' which refers to the problem

10. Because he wanted to be a success, Alex gave us a lot of help with the party.

The correct answer is: C. The answer is 'it', which refers to the party
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